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1. A set of guidelines called a model code of 1.
conduct is enforced during Parliamentary
elections in India to avert corrupt practices.
This is applied to

L. Political parties only

2. Political parties and voters

3. Political parties and candidates
4.

Candidates contesting elections only

2. A country has the ultimate rights and power 2.

to make decisions on internal and external
matters. Also it is not dictated by any
~xternal power on its decisions relating to its
relation with other country.

Which  feature is- reflected in these
statements? ’ '

1. Republic
2. Socialism
3. Sovereignty
4

Authoritarian

3. Anti-defe‘ctioﬁléw is anirﬁpbrtam feature of 3.

Indian party system. The final authority to
decide on the disqualification of a member of
the Parliament with respect to anti- defection

lies with the

President

Prime Minister ‘

Chief Justice the Supreme Court of India
Speaker - of the Lok Sabha or the
Chairman of the Rajya Sabha

B
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4. Which of the following statements exemplify
the independence of judiciary in India?

L Judicia.ry is not under the control* of
execut}ve and legislature.

I The;g is les; scope for interference in the
working of judiciary by th iti
executive. Y by e polica

L. A judge of higher judiciary can be
1emoved (_)nly through a  resolution
which requires 2/3rd majority of both the
houses of parliament.

Choose the cotrect option.

1. Tand II

2. land I
3. Lltand I
4. lland 11

Rajya Sabha is also called the upper house
e}iders house and permanent house. Which 01;
;t?e statement/s given below is/are true about

L. Rajya Sabha has more power related to

financial matters.

I Rajya Sabha members continue to be in

office till the next general election.
IIL

=

Resolution for removing the

Vice-President and the President
originates in Rajya Sabha.

IV. Number of seats allotted to a state in the
Rajya Sabha is directly propottionate to
its population.

1, T and 111
Hland IV
Tand IV
1V only

2w
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In the context of Indian elections, the parties

which fail to gain majority in the Parliament

play the role’ of opposition. Consider the
following statements and choose which
statement/s is/are is NOT true.

I. Opposition paities in India play an
important role in building public
opinion.

{1 Opposition parties are not
constitutionally recognized.

[il. Opposition immediately assumes power
of government, if the. majority “party
loses its vote of confidence in the
Parliament. ,

IV. Opposition parties keep a close check on
the activities of the government.

1. TandIfonly
2. Iand 1T only
3. 1l only

4. 1Vonly

Consider the following statements :
Statement I: All countries . that are
democratic have written constjtution.
Statement 11: All countries that have written
constitution are not necessarily democratic.
Which of the above statement/s is/are
correct? :

1. lonly

2. lionly

3. Bothlandil-
4, Neither I nor I

China exports a toy to India at % 150,
whereas the same toy is manufactured and
available in India for ¥ 250. When China
continues to export this toy to India, this
trade practice is known as

1. dumping

2. export promotion
3. import substitution
4. export subsidisation
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9. Shruti and Gautami were discussing abouyt 9,

India’s GDP ang Kerala’s SDP. Some of the

observations made were:

I Kerala’s per capita SDP is Indja’s GDP
divided by Kerala’s population in 4
particular year.

L Since Kerala has best literacy rate and
excellent quality of life indices, it mugt
have the highest Spp.

HL In a federal structure if we know al] the
SDPs we can have a fair idea of how big
India’s GDP wij] be in that year,

IV. Kerala's per capita SDP i 4 particular
year is the value of all final goods and
services produced by the Kerala state in

that year divided by Kerala’s population
- in that year,

Which of the above statements are correct?

L Tandij]
2. Hand Iy
3. Mandlv

4. Lland1v

%ﬁf@k%&ﬁwﬁmpaﬁtéﬂam
WSDP%%W&WW@@:WW
T 59w &

I WﬁGDPﬁWW%ﬁW
H SeEn d BT w e W A @
Hfasqﬁasmmaﬁr%x

In. %Wﬁwww@fw%&ﬁ?
ﬁaam%m@m%,ﬁw
snpw@maﬁ:ﬁaﬁm

Irl.wmﬁwgﬁﬁwﬁmwﬂ SDP %t

10. Shehnaaz Jjoined a coaching institute for 5 10, ¥ T Y UF e i % o ww

professional course, At the time of Joining
the course, she paid a lump sum fee for the
entixfe course of two years, However, she did

was refused. Which of the following right/s
of Shehnaaz was/were violated?

L Right to choose

Il Rightto represent

I, Right to be informed
IV. Right to seek redressal

L Only1

2. landlv
3. Hland1v
4. Only v
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V. &yl 1 sifrmr
I e

2. Iaer v

3. Hiagr v

4. FHEarry

1.

12.

g i
Which "of the following reflects situation 11 5 CE € 3T 3 g ARG

t
where a person is employed but do no

contribute in adding to the total product? L el :
I.  Open unemployment i Wé(imﬁ ‘)f‘ .
1. Disguised unemployment L tﬁﬂﬂ"} ; AN
11 Seasonal unemploymejntk W i : 55’;
1V. Frictional unemploymient

I Jaar il
1 fandll S el
2o 3. e IV
3. MandIV . éma v
4, Only IV

- ] { P9 20
rgw A 100 wfem § T .
There ére 100 households in the village ;Of 12. T,Imk azﬂlg’ﬂ e o 29 5 ?
ich the loan taken by it -W@ - ofiEry
Awangkhul, of whic . A | e
Bank of India, ; \ -
Ids are from the State bank . T qﬁam. T
hozts;::ro 20S households from their frlends;( arlmg a—;‘; 9, 19;?@ R ?—7{-]-;;0 m;ﬁu; = 3
an : 1 , ‘
i from Indian Bank, f i
. relatives, 5 households o0 qﬁ? A mmzo ‘Tﬁ’énﬁh .
! ional Rural Bank, @ Tl e 3
holds from a Regiona tfEr ¥ el ofukel
Eoﬁzzh(;lds from businessmen, 10 households 5w m ¥ ﬁﬂf‘?{f‘@ﬂ Fregst
fr(:)m' village headmen and 20 house];o:gs e
soperative. societies. Which of the v
from . cooperative, socx.etles. . o
following inference () 1s/are.c0rrect. . L N .
[.  Formal sources of credit are fowe N AT

n nstxytutl()na sources o credit are higher ‘ : Y E’ 31& &

it €1 S
. . -
oot it are 111, W@ % e-gems g o= w
III. Non-institutional sources of credit ar . N | )
higher than others. ¢ ereit ave slihly o o i, s s
orm: edi - ;
IV. Informal sources of c¢r i ar%mﬁa;%l
higher than others. >
1. e |
2 Tl ARG
2. tand 1T o !
& Wand 4, 1A v
4, Hiand IV
5
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3. Which of the following statements are true 13, Frerfafg ok

about food security?

I Landless people  always have food
insecurity‘
I Those who do not have enough

nutritious food are food insecuyre,

H1. Those who have enough food but not the
requisite nutrition are food secure,
IV. Those wheo do  not have enough

purchasing power to buy sufficient food -
are food insecure,

Iand I}1
I'and Iv
Mand g - -
land IV

Bwn -

14, Siddhik issues g cheque of 319,000 in favour 14, isw, I ® A 19,000

of Hanush. What happens when the cheque is
received and i

processed ‘in
Hanush's bank? )
L There is no change in their bank
accounts .
1. Both their bank balanceg increase by
¥19,000. .

1. Siddhik’s bank balance decreases by
X19,000 and Hanush’s pank balance
increases by the same amount.

IV. There is no change in Siddhik’s bank
balance although Hanush’s bank balance
8€es an increase.

Based on the above statements which option
is correct?

1. Only]

2. land HI
3. Onlyin
4. Hland 1v
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15 e {dal wage of a persor al area is ‘Jd U 835‘ ﬂ' Ueh EC{‘W ﬁ _R"ﬁ'l?ﬁ W
h y g person in rur al 5. %180

16.

T 180. Arrange the following households in

1 Fretferfea oftand st e % wRr e @

descending order of vulnerability to poverty.

SR 0 A sefer Wit

: e &
orki wafae - Jufare w0
Person - Size of the | Working oRame w1 N
Nﬂr:t‘ of days of Household mc‘rfxtl;‘ccrs . o v
. the 4 ¢
Household | employment i e ": 3 ‘j‘ T aﬂjvt
. ] 2
Ruldoo 14 4 2 g IZ ; 4
Mulkha 15 ? ; Risgell " ; 3
Fakira 10 : 2 : m%ﬁﬁ 3 ‘ »
>
Preeto 12- - e g
1. Preeto > Mulkha> Fakira > Il:{ulifioo ; > mﬂ@ > % 1I> &ﬂ%}
) { > Ruldoo > Fakira Hqoen g ﬁwj@ >qu—c1»,—"m »
Mulkha > Preeto ir g
%. Mulkha > Ruldoo > Preeto > Fakira 3. ol g TG g >mm
: Ruldoo > Fakira > Mulkha > Preeto 4. weg fearn qedr
. Ru

1w
‘The following graph shows the distribution - 16. A g WigE aeE SR olgd oyl @
: forae

f mean monthly temperature and average
: ?ainfall of a particular city during the year.

)
1%
[~]

=
S »

Yideii (

Losusbersinre (oCeraine)
8
[~}

Months /Are

Which one of the following cities shows the

. . Mar. Apr. May Jun. Jul. Aug. Sep. Oct. Nov. Dec.
£
Jan. Feb., M A \'s

40
3s .
30 &
25 %;Z
20 %g

,,,,,,,,,,,,,,,,,,,,,,, L 15 %
10 Vg
5

e 4 ¥ P e 7 T T

ir & e @ €2
climatic conditions presented in the above K tec]
graph? —
1. Nagpur )
2. Chennai Y
3. Jodhpur -
4. Bengalury Arege
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17. The average mean
four stations are given

he temperature g
movements of japq and s

monthly temperatures of 17. 3R

iq the following table
influenced by thé
ea breezes.

oy
FrAfafen afem

S W it

Which one of ¢
Maximum modey
and sea breezes?

. h.ese vstations experiences
ating influence of the land

>

BN e
Tow

18.

Male
Literacy
Rate

Based on the 4
which has the
male ang femal

bove table,
extent of e

! e better thap
of the given parameters?

iden?ify the city '
quality between
the rest in termg

) R
Uown
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19. Ruhani observes sequential change in relation

to altitudinal zones and natural vegetation
types dominated by ~oak-chestnut; pine-
deodar and silver fir-birch.

{dentify the proper sequence of vegetation
type she has observed from the following.

Alpine to Temperate to Subtropical
Subtropical to Temperate to Alpine
Subtropical to Alpine to Temperate
Temperate to Alpine to Subtropical

Ealadb i

20. Observe the map given below.

their
features ~ and
select the correct option using the codes
given below. :

Identify the shaded regions with

corresponding  geographical

. A= Zone of laterite soil, B = Coffee
producing area, C.= Cotton textile
industries, D= Evergreen forest cover

2. A= Evergreen forest cover, B.= Coffee
producing area, C = Zone of laterite soil,
D = Cotton textile industries

3. A= Evergreen forest cover, B = Zone of
laterite soil, C = Coffee producing area,
D = Cotton textile industries

4. A= Cotton textile industries, B = Coffee
producing area, C = Zone of laterite soil,
D = Evergreen forest cover
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21 Which of the ;
. following geologics ;
Propetly matches the te oo scaience 21, e e gt STIHAT

ctonic events f, fererdifires ; ' .
fo recent tim i fom old & IR YR e ’ ¢ g
| .epeﬂods? ) N o el BT @l ¥ ; 23. While teaching a topic on agriculture, 23. Ff % an o we™ gQ ‘Tﬁﬂ ot forfies 3
. Folxmatlon of  Aravalli . Decc geography teacher had made the following ™ wae @ e § war B,
Volcanism . formation ; an L ayeed o ey statement about a particular crop in her class. :
: of S H - P P i
5 upliftment of Himadgi hiwalik - Rt = « T AR Yo - "Mean Monthly Temperature of about 27°C, ‘270 e sl weA TEE quEE, e
- Seccalr; volcanism - Formation of - Teurd Se | high relative humidity, rainfall of 150 ¢cm in e ST, TSy g B 150 B awi aen
favalli - yplify . ECcoT mer months and khaddar soils are the FEE Feromret ey
. pliftment . AT Yarg - SRy . sum L oEE
formation of Shjyyarit 7 of Himadi- kil G~ ideal physical requirements during the period el w K -
3D walik, %wwmw,ﬁ_ﬁm ) , phy q g the p p—
: S heiccajn‘ Volcani.Sm - Formation of 3 T W W of igs vegetative growtht". . )
walik - Uplifiment of Himadri - - SR AT e - Rt 2 Which one of the following crops was stated forferer o fom woer w1 el w512

formation of Aravalli femmst = S~ el w7 B . by the téacher?

4. Formation 3
of Aravalli.
eccan 4, Wﬁw’

volcanism . TFE T T
pliflment of - ; ; - ‘
formation of Shjyg): limadri- Temrst I B e ) =
alik. I - oy EEd ;i e
» BT HeEy 2. Jute ‘ : 2.
22, Th :
€ given map shows location of different 22 e 431 Is{szalt)rec;ne 4 ‘

24. Bibhuti was travelling to study the traditional 24. faf wRE 1 waks $f ol @
agricultural  practices among  various s vq Tavdh Ao, wave, sifew qon

communities in Meghalaya, Jharkhand, ofrarl A @ o

Odisha and Western Ghats. o _
Identify the correct sequence of forms of = oA o W I e iy ol wr st

cultivation practised in these regions. . IFREN SR
1. Jhﬁmming - Kumari - Pama Dabj - 1. Bl 'e@'qrfr - qEE] - Eiee
Kuruwa .

: : 2. Kuruwa - Pama Dabi. - Jhumming - 2 YA - e —gH - A

A mountaineer wants to scale th, 3 ; Kumari )
peaks in Peninsy] i v 1€ Mmountain 3. Jhumming -Kuruwa - Pama Dabi - 3. gH - HEA - S - {Ed

1o Soup ¢ ar India starting from Nosh ?{Q;Wt’:"ﬁﬁ AR T — g Kumari

Identify the cop ' ) ' A = e SR 4. Pama Dabi - Kumari - Jhumming — 4. e - HAd - - R

ITect sequence of peaks the 87 S MNER Kuruwa v ]

mountaineer wilj follow?

T - T - SRR YR

Hunza - Dras -Zaskar - Shyok
AT - T - YA - g

Zaskar - Dras - Shyok ~ Hunza

I. A = Mahendragis:
agiri: B = Apain 4 .
C=Dodabettag ,;'_’___BM Anaimudi; R ) ) 25. River Indus flows through Leh and Kargil 25. Ty %@ wo-swedk & % o 3§ w@
2. A=Dodaberrs. ahabaleshwar. c= B = s, districts in the state of Jammu and Kashmir, BT TAE BN $1 TR AN Vg weTEs
c- MO abeﬁa;.B = Mahabaleshwar, 2 , D = feraeiyen . It has four major tributaries in India. Which T ¥ T A B oy w0 A e
ahendragir; [y = Anaimudi, - A= ; B = Wermvey . one of the following is the correct sequence @ & T o s 2
3 A= Anaimudi; B = Mahendragiri. : - C=wsfif p - T 7 of the tributaries arranged from East to West F (W i ) e
C=Dodabetta: p = Mahaba}“;gf;“’ 3 A= SR B = in terms of their confluence with river Indus?
4. A= Mahendraoin. 1. war. 2 .’ ég‘ T :
C= Dodaet?ecga-gm_’ 8= MahabaleShWaﬂ 4. A= e D = RRNAEN] Zaskar - Dras - Hunza — Shyok |, SRt - 89 - B - v
& D= Anaimud;. ' _m; B = TETIRYET; Zaskar - Hunza - Dras - Shyok 2. TR - T - 9 - vE
: ’ 3.
4.

]
i
o
#
N
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27, Observe the following diagrams carefully

Whi .
) 1:1; on%of the aboye Population pyramids
. 1deal - representation of  India"
population? e
[T
2.1 3
3.1 ;
4 1y ;
4.
12

26. A tourist was travel]
came across ¢
Jarming of thre
agricultural
Soating gardens on a lake
Identify the pro ’
tourist travelled
1.

2.

3.

4.

faﬂ?ous Buddhist Monastery,
€ rice crops within the same

ear, a cement Jactory ang

Per sequence of the Statés the

Sikkim - .

g/'l Eghalaya st Bengal - Agsam -
ikkim - ,

Manipor Arunachal Pradesh - Assam

Arunachal Pradegh - A«

~ Manipur esh - Assam - Meghalaya

Arunacha] Pradesh -

I\/Ianipur«1\4eghalaya West Bengal -

I
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27.
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O A 5o iy e
WMWWWWWWWIW:
21'- -m”mm—w—w
. —Wm_m_m

3. ST e - s
4. &I o W_m
Herery

W"WW~W~

30.

printing in Medieval Europe are correct?

1. Wood block printing reached Europe in
the 13" Century.

[I. The aristocrats and monks criticized
printed books as cheap vulgarities in the
beginning.

111, Printing did not entirely displace the art
of producing books by hand.

IV. Martin Luther had reservations against
printing of books. -

I. LHandIiI

2. Lilland IV

3. Llland IV

4. 1L Iland IV

29. Which of the following statements related to

Mahatma Gandhi’s view on Satyagraha are

correct?

I.  The movement in South Africa was not
passive resistance.

L.~ It is the weapon of the people, who are

" " notweak: : )

1. India could not militarily face Britain.

IV. Truth i$ the supreme dharma.

I, [L.and {11
I, land IV
IL, Il and 1V
I, Hiand IV

i S e

the ‘Scorched Earth Policy’ in Java are
correct? ’ .
1. The Dutch destroyed the saw mills.

II. Teak logs were burnt by the Dutch.
. Trees were cut freely to meet war needs.

[V. The villagers were éncouraged to expand
cultivation in the forest areas.

I. Tand I

2. I Hand 1l
3. land1V

4. 1L llland IV

29.

Which of the following statements relating to  30.

13
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28. Which of the following statements regarding 28. WeFFTeil® 9 ¥ Jgo % Wl o Frferfaa

wmeRl- § HH-T we wE B2

L gEsis (H@ w1 aeh) el oud g
o 13 o wadt § wgEh

I wef ek epfrost 3 goom § &l
Bt el Wi S @ fere frr @

CHL gsw A el § e gl @ wegel

fewenfoa 8t o
V. Wi R & el ® BT @ faes
st ot .

1. L SR

2. L IERIv

3. LUSRIV

4, L TH SRV

fefafee 4 @ F9-§ Fw 9@ER W
R T ® fem ® wed § wd

I <feor sl o geN SUREH WOWE /
fafere ofte = oam ;
L 98 ST i s efer & S wmEs

i

M. wwa ¥=1 w0 @ Bes o wm e oWt
EHE S : :

1V. e weiten ud 2y

1. LRI ‘

2. LSRRIV

3. eV

4. LAeR v

S e AR ® W A
Frefafian woml § wE-8 W 27

R I A o s R e

I TE F R WE % wegl oS

T
L g5 = S % o 3w sm o

e T
V. ool Rl o & W el @ T @ fo
wiemfea. fwan e ‘
1. rsirn
2. Lielkil-
3. 18Ry
4. 10, IH RV



31. Which of .
! ¢ followin
opium cultivation in & Slatements

. Indi o o
period are correct? @ during the British

i The peasants could sell of e 0(
y produce
I Local traders offer ed )lghel prices for

HEL Opi'um production
territories  that
British. '

IV, Peasants w, i ‘

. ) ere: getting S
Foms V['”agc g money advances
opium.

was increasing in
Were not under the

¢ headman 1o produce

L L Hand 111
2. LUand1v
3. L Hand 1y
I, M and v

Fadl

32. Observe the give

Orleans, Hlustrateq Lond(\}}é News, 1851

What does the picture represent?

I Mourning
2. Slave auction
j- Market place

1

2

Roadside gathermg 3.
4
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about 31, fofewr e o e

New 32, 3 sk

& v a1 2
R

T =1 S 5 ey
SR e

AT w3 g

ﬁﬁ?iﬁf@a%qﬁ&aﬁm@%mm%‘?
L e s ;
Thd o) maﬁ%@ﬁéﬂ

”-.WFﬁ?:rsqmﬁgmﬁq <

Iv.ﬁ?ﬁﬂﬁgmaﬁgmmﬁ\
s ot %
fer W1 AR Fr fierr o)

LoLHsik
2. Ltsk v
3 LUIsk v
4 IL UL R 1y

quﬁméﬁﬁ:ﬂ 18519 ferg

33, Why were Nghe An and Ha Tinh provinces 33,

34.

called ‘electrical fuses’ of Vietnam?

1. They were near to the capital city and
were centers of power.

2. They were among the poorest provinces
and had an old radical tradition.

3. They were very rich and had strong trade
links with the outer world.

4. They were at the borders and were in
conflicts ~ with the  neighbouring
countries.

Which of the following would be the part of

the surroundings in a chawl/ in Bombay

during the colonial period?

I. Large number of people living in shared
rooms. :

II. A large population of people belonging
to depressed and lower classes.

{II. Streets and neighbourhood being used

_for a variety of activities such as

cooking, washing and sleeping.

IV. Liquor shops and Akharas in any open
spot.

1. I, Hand I

, 2. L iland IV
3. Iland Il
4, 11, Hland IV

35. Which of the following statements are true in

the context of Cricket in Victorian England?

1. The rules of Cricket were made to
favour those who were described as
“Players”.

II. The wages of professionals were paid by
patronage or subscription or gate money.

I Cricket was viewed as a way of teaching
English boys discipline, importance of
hierarchy and leadership qualities.

IV. The rich who played were called
amateurs.

[, 1f and 11
L [1and IV
[ lland IV
I, i and IV

halb i dien
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= g ol @ fow Ul @ fawomm

‘STt fem Rl e S e

1. & woueh & ol 9 ol wm o @

2. & "9 e wa ¥ 9 9 el wwl ww
Fifeyer w1 W ol

3. & wga omR o fmer e Wt gfrn @
Ty SRE gEY ol

4, 3 dw oW 9 ek ughh Rel ® R
e @ o

qﬁrmﬁafwﬁﬁmﬁaﬂwﬁﬁrmwﬁiﬁm_

s o Wit @ ufew W feem Bl 9
L e e ¥ o

1. =i o fre o § wefim e sede
i

N1 wew) o T-ggg W el s w
TR WA UEE, HUS U ol W
anfs = fag fear sFm

1V, fRE o wrel T W IR R R SR
Encice! '

¢ el
2. LTSk v
3. (& m
40 T, I & 1V
. fmge o fueifad. ol = ded o

Frrfafan wurl § @F-E WU el 87
1. fame @ o ‘o ® sigEe
TR T

1. e Teenfedl w1 Jedar Sele, = W
2w gweE ey T A 9 fen s e
1. fre Wl o0 TeHl W SN,
Fg-fra. w Ay I g ewa e
w7 WA AFT ST e -
v, frde Bem o onf)) = elifea’ wmE
Eice
I, 1 &R 1
Le v
L sV
4. 11 sl v

I



36. Which of the fol

lowing Statements are e
for eighteenth century France?

There was much criticism of slavery.

I The National Assembly  feared
opposition from businessmen who were
dependant on slave trade,

Plantation owners  ynderstood  their

freedom as including the right to enslave
Africans,

IV. The Convention of 1791 legistated 1o

ur.

=

explanation to Statement [,

36 lxsﬁwaﬁmeﬁmﬁwﬁwﬁwaw

ﬁ&ﬁa»ﬁa:mmﬁ%’?
I m?ﬁaﬁwﬁwmaﬁn

IL. ﬁsmamavﬁﬁwmmﬁ#f@:ﬂm
xli.wmﬁaﬁw@mmﬁw

mewmﬁvﬁwﬁﬁqmﬁﬁ

1v.1791?#a@m#wfmﬁmﬁésﬁﬁwﬁ

w1 e T

39,

46.

. '
i : o] Y ES T S g s
tement I: Potatoes had been discovered 39, 339%" igﬂ'fi“l
Stdh Europeans in the Americas. . N e
by the nt K: Poor people in [reland.wel.'e T I1: ] WW$ qu—{@}gm’m AN
Smt(::;:nt on potatoes to escape starvation in @ e
epe

the 19t century. ' g %
Statement I: The President of India cannot 40. ¥ EIEEE Eoiceyl
a’ e

| im the kind of direct mandate that the 5!?[ %, \—3“ I
clat X .
Prime Minister of India can. . :

Statement II: A candidate contesting ﬁ;r ﬂ(‘; Sufigan w1 wsgdfa Frae B o fog O W
; ) . in a majority
free all slaves in the French overseas R e LT IR R fa) post of President has to ga”}d to‘#lndia. TEHT BT B # )
possessions o votes to be elected as the Presiden -t
) ' -2 T n o qols ¥,
1. Tand Il L laﬂiﬁg , where 7 is an integer, then 41, ‘q‘[;?( m ‘m’;zr %n ?, Sl
2. LHandlv 2. LusR 1y 4. Wm=n ~n m’—2m ’
3. Iand I 3. nak o m’ = 2m is divisible by I 208W
4. IL I and v 4. 1, IHSﬁTIV L 20 2 24EW
37. Which of the following statements are truein 37. smyfre T F . ey ® owed A 2. 24 3. 308/ v
the context of Liberals in Modern Europe? frefafes 4 @ o o wort Tt § 3 :1;(6) 4. 1630 3 :
L They opposed the uncontrolled power of L 3 iy mEE F STt sifyep) T 4. ] . | 42. J97x98x99x 100 +1HT A U
dynastic rulers, . iy w3 oy 42. The value of ,/97x98x99x100+1 is equa »
Il They wanted to safeguard the rights of L o sy & Frode Safrrs SIERY =y o 501
individuals against governments. A FE AR o I 9 1
UL They argued for Independentjudiciary. L 9 @y T TEEE W o t. 9901 2. 989
IV. They believed in  universy) adult IV. 3 ot gewt sk wfeenst, R wr wrafy 2. 9891 3. 9801
franchise for all men ang women with A, ST i o FAER A 3. ggg} 4. 9701
- property. Torvarg = e 4. . . * qen
: 3 T A
L Llland 1 LoLsR ial of degree 3 and 43. WA.TRE fF px) W
2 Ln and v 2 L1sk 1A% 43. Let Pw) be a polynomial o Pey=L SEfn =1,2,3, 4% @, PG)®
- L Ilan, , _ N = ,
3 Lllland v 3. Lmek v P(r)=- for n=1,2, 3, 4. Then the value o A
4. 11, M and v ) 4. 1L 1 sk v PS) i n .
is 0
Directions: (Questions 38 - 406) ’ et (wowr 38-40 ) Lo 1. 1
Read the statements ang select the correct WU B Y adf e Taw e fremeny 3 q S . 2. 3
answer from the options given below, w& s E\lﬁl 2. 3 9
1. Statement | is true, Statement 1] is false, I %em | gt %\ U ] e 3 5 3. s
2. Statement | is false, Statement I js true. 2. T e ¥, e e 4 3. T3 3
3. Both Statements are true, and Statement 3. S wey w2, sk T I Fow | ) 3 4. 5
Ii provides explanation to Statement I W S e Y 4. 5
4. Both Statements  are frue  but 4. =FF o W& § dfee FEH L wyg T
Statement 1T does not  provides

=0% 4
. T 33’ ~ 5x +3 =0
4. If aand Bare the roots of the equation 44, IR osMT 8

38. Statement I: The Bretto

¥, @ 7 e S e, o T
n Woods System 38, wer L5 USY e et froy ey
came up during the post -World War Perjog, o

3x% — 5x + 3=0, then the quadratic equation

2p 3l ap? ¥
2 d 2 is o N
W s, whose 2roots are o’ and o N 3x§'— S¢+3 :g
Statement II: The industria] nations had F L it dw o SR R o é gﬂ‘?ﬁ:g:g 2. gxzhgxigl()
massive growth of trade and incomes. Tl gy gg) ‘ ©o X moxdo= 3. 3% -8
: © 3 ~8x+3=0 1 5x-3=0

16 31. 3i2~5§«3=0 o
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45, In village Madhubani g women and 12 gifs 48, g i o g R T &R

46,

47,

48.

49,

can paint a large mugg] in 10 hours, ¢ women
and 8 girls can paint it in 14 hours. The
number of hours taken by 7 women and |4
girls to paint the mural is

Lo1o
2. 15
320
4. 35

+5 .
Ifx = 372 and p = x3, then .y satisfies the

quadratic equation

I. Vo= 18y+1=9¢
20 Y4184 1=
3. V18— =y
4 Y418y i=g

If tan®g = _ &, then the value of
56¢8 + tan’9 cogecd is equal to

Lo (1-ey
2. (2 - ez)l/2

3. (2-ed2

4 (1 X

Let the volume of a solid sphere  be

288 mem’, A horizontal plane cuts the sphere
at a distance of 3 ¢y from the centre so that
the ratio of the curved surface areas of the
tWo parts of the sphere is 3:1, The total
surface area of the bigger part of the sphere
(in cm?) is

1. 36x
2. 1087
3. 135g
4. 1444

A solid metallic cylinder of height 10.¢m and 49,

diameter 14 ¢ is melted to make two copes
in the proportion of thejr volumes ag 3:4,
keeping the height 10 ¢m, what would be the
bereentage increase ip the flat surface area?

.9
2. 16
3. 50
4. 200

iH&SA%EN&H{N

46.

47.

48,

12 erefeet o
mw&mwmaﬁﬁwwés
6 wiEEd it § e T3 14 % F o
ww%:w%@%aﬁ?wmaﬁaﬁw
14@3&5&@17@@3%%%&?#@1%
L1
2. 15
3..20
4. 35

afy x=3i2[5— 3ﬁ?y=x3%, ?ﬁyﬁ@f\ﬂf@ﬂ
o wfwor e gy 2

Loy 18y+1=¢
2y +18p+1=0p
3. Y18y~ =g
4 Y+ 18y—1=g

4R tanp = [y 2, @

sech + tan’g cosech T T aRyare 2
| — oty

((2 ~ :2))1/2

Q-2

(1 -2

T AR B w g

I.
2.
3.
4.

R e -

288 mem’ 1w e ey T M ) g

@3cmﬁ?§rwmmm%%7ﬁﬁ

%aﬁq‘rmﬁaﬁwq&aﬁ@awwm
3:1%‘:@%%3@%%@%
%73%?{(cmzfi)%r

L 36

2. 1087

3135w

4. 144 g
IOcmWwFﬂérsﬁ‘(McmwmaTﬁ@ﬁﬂTg’Eﬁ
T el e fﬁwma‘f?ﬁa@maﬁ
g swwamammméamﬁé
10cmz°r'{@°rns‘%rmra%ﬁaamﬂﬁ
e wfrerr gfg w

L9

2. 16

3. 50

4. 200

50, Each vertical face of sq

pLia i has equal,
illar of helglt 3 ! as 7
lli’;{I*Cylil’ldl'iCal surfaces i such a way tha
sey

) i i in the
i hOI'iLOntal ¢ross- section 1s as shown
its

figure.

B gl et
uare based vertical 50. 3 m Eiie)

g GEaleR e W 7 UHF STHETFTR
’ 7 e
g 39 WER € T see AR s

sty o el STTEl @

CNTNTN YT

¢

Y

i

%

€ ragius o S cm, th
radius of each semi ¢i cle is 10 €

( )) P‘l ar so deSlé“ed
volume (in m of the

22 .
(taking 7 :_7.) 18

5.88
6.14
6.42
7.2

B0 b -

in cm?) interior to
area of the square PORS (in cm”) interi

ABCD, shown in the figare is

A_AMMM/

ﬁﬁmmcm%,?ﬁw
T e e

(

EIREd
) fifsg 86 ABCD st 20.cm
ABCD be a square of side 20 cm. The 51, #F s

51, Let

Eal i S e

ﬂ:%%*éﬁ@z) #

5.88
6.14
6.42
7.2

13

&1
% st § ABCD & endm ¥ i
PORS Ft &5%@ (cm”®) faen B

T B
A HI
10 19
b 0
M
R iw
10
$
C
AT N 10
1. 60
1. 60 2. 80
2. 80 3. 100
3. 100 4. 400
4. 400
19
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& oy abe
. 56. WA iR N &
1 o Let ABC be a triangle with sidesa ]f,c -;hgg ABC #1 1, B Ai{?j mfm?%
.ol o €] . o O ] 3 - e gzz g
52. A circle’is inscribed in 4 right angleq triangle 52, afary 7, amy h5d P = 5 lengths of medians (?f thfet;\lgg;re e g
of perimeter 7 5 Then the ratio of numerical T T 81, ™ ,aﬁ BAk TN Sl the medians of the triang LR L
values of circumference of the circle 1o the g & abwet & v B s N b 293%3
area of the right angled triangfe i e & 1 Ea,—ib»"z’c 5 _Z"G,Eb%c
L 47 L4 2,2 303
2. 37 2 5 2 %“’Eb‘gc 3. 34353
3. 27 3. 27 33,3, 474
4. 17 4. 17 3. 7e3by 4 Ea,ib,%c
53. It is known that area of a cyclic quadrilatera] 53, v & 5w wdy TGS T Sy 4 54 ib,%c 61)4; (x— 1Y g faanfea fran smn #1
is J(s-a)(s_b)(s-c)(s-d) where a,b,c,d ape . . 6.6 3 lue §7. (x+
atbreiqd V-6 DG OETa 8, et a.b,¢,d gt 57. (x+ Dis divided by (xl_'l) - Then the va x = | T Ao WA ¥
. - . X =1is
the sides and s 5. ¥ o S:ﬂfid%' of the remainder atx =1 i L 16
If a circle can also be inscribed in the cyclic 2 ) ~-16 2. 0
quadrilateral then the area  of thig IRk 3g Thig g @ Sl TE g9 o ; 0 . 3. 16
quadrilateral is ‘@"};n ST ey ‘%' a} Y aﬁﬁq En W % 3 16 4, 32
i : 4: 32 ) F Y BT SR
L V(@) + (cay? I+ V(@b + (eay? ‘ h the vertices of a 58. =g 3@ wH BT ABC @;’ﬁi cE, -3 %,
2. Jabed ' 2. abed 58. A cirCIeAFg’ése?ft:::ufemces are A(-2, 5), 21 A ol A2, 5), B2, -3), '
3. (ac) +(ac)? 3. (@) + (ac)? tI:(arlzg 18_3) C(2, ~3), then the centre of the @ o A
’. 4 .
4. J(ad)? + (bey? 4 Vad)? + (bey? : circle is . gg 9
54. Two circles, both of radij 4 touch each other 54, fim ¢ oy VT TR g e 1. (g’ (3 ‘ 3 (2,1
and each of them touches internally a cirele ¥ 9yl B 24w T g9 w5 2 (_’2 N 4. (0,-3)
of radius 24 . Thep the radius of the circle e wy § w3 wr ¥ T, 39 gu w 3. 20 ’_3) . R R
which touches alf the three circles js e, W g @ g e g @ 4. (0. : . af% & W mﬂ,m , ':ﬂm
| Freferfea # o ’ dice are thrown together, the 59, W WEHT TN S HEmel 1 e TE
; .
: : 59, i)iot};:i)lit)' that the differ'ence of tg:rnumbers A n Y
. 27 . 27 o appearing on them is a prime num o
2 2 3
2. = 2. £ 9
3¢ 3¢ 1. %
3. —:-;-a 3. ia . 2 4
4 4 4 T 9
4. a 4. a 2. 5
S5. Let D be a point on the side BC of 5 triangle 55, wr wifn fi iy ABc % I BC W ww , 3. 5
ABC such that # ADC - £ BAC. If AC=)| S D 3 YR from & f5L ADC =Z BAC 5 12
°m, then the side of an equilatera] triangle 2 7 AC =2lem @ Y [ fﬁ‘ﬂﬁ EGl 3. 1 . .
whose area is oqual to the area of the o7, e g BC sy DC a@r : 4 1
rectangle with sides BC and DC js T % sy R F Prafafey & A7 36
L 14x3n I 14x3” 3 )
2. 42x32 2. 42532
3. 14x3% 3 14x 3
12 2 21
4. 42x3 4. 42x3
20 ‘ N
_ 13-15-SAT-ENG-HI
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61,

62,

60, Observe the following daty,

B v
Class/ &t
R
Frequen cy/&{r{a*,m

9. Frerfeafien siwe) w5 St )

=D

If the above data h S
S " A s mean 50, the — 120
tn,quenuesﬁ and £ are YCSPCCII"V@;:/H mis f [S.— . e —
’ TG Fo: /31, 5 S
: J2 S
L. 28and 24 iy
2. 24 ang 28 I 28 it 24
3. 28and 30 2. 3?!?28
4. 30and 28 3. 28330
4.

30 &R 28

.ﬁ%%@l@()z)
S T
B R

o g ﬁtﬁm’%‘z

é);mcﬁans: (Questions 67 - 62)

u

grap;;ose that the acceleration vergy time
' ) SHS [

8 ph of a particle that Sarts from rest y ¢ =

15 as shown in the figure. B

-10 j S

does the parti oi
for the first tjime? particle come ¢

At what instant

Grest 5, R S E i
&7

5s

N

2. 10s I 55
3. 155 2. 10s
4. 3. 155

The particle never comes to rest

What is the total distance .

particle during 30 g7 avelled by the 2, = &

I Om

2. 500 m I Om

3. 750m 2. 500 m

4 1000m 3. 750m
4. 1000 m

13-1 S-SAT-ENG-H IN

63. An object of mass 2 kg is moving under the 63.
action of a force which varies with time as

shown in the figure.

F 2
™)

0+

2 kg FoTM w1 HE fove kem &, fed sw
% s W, oM@ ¥ oy oMER W %
Trer Feraor e B :

Which one of the following statements is

correct for the interval from 0 to 20s?

1. The momentum of the object decreases
by 75 kg m/s.

2. . The momentum of the object increases
by 75 kg m/s.

3. The momentum of the object increases
by 125 kg m/s.

4. The change in momentum cannot be
found as initial speed is unknown.

64. Two cars ‘A’ and ‘B’ of same mass start 64.

from the same location at the same time but
on different straight roads. Car ‘A’ travels on
a road that has greater angle of inclination
with horizontal compared to the road on
which ‘B’ travels.

At any instant both cars ‘A’ and ‘B’ have the
same-height above the starting point. If Ea
and Eg are total energies of cars ‘A’ and ‘B’
respectively, then

Ea<Ep

EA = EB

Ea>Ep

Relation between E5 and Ep cannot be
decided based on given information.

Fali el S e

23
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e 0¥ 20s w7 vty ¥ fem Fefafaa
¥ Y F W T FE T 27
|, fave W gS 75 kg m/s F & S B

2. fuvs @1 WA 75 kg m/s A € S &
3. fave @ wAT 125 kg m/s o € ST &)

4. ¥ ofed wa T fRa s e g,
it amfeves W @ 8

A R Y HR A’ SR B Ww
wr w8 R 4 weg - died
sl W M wow wE ¥ A Y 9EE W
e & suw A ¥ smfa W, E wsw
o R ued S ger | s @)
et aw SR R CAC IRCB s % T
Q waw g w1 oAl ERCAER CBE
@ T R BaSit Ep ¥, @

1. Ea<Eg

2. E,\ = EB .

3. Ea>Es i

4, @ T YET B SER W Ey N Ep B

e ey gitrad 6 fEe S weR



65. The gravitationa] potentiaj energy difference 65,
per unit mass between the surface of g planet
and a point 100 m above it is 1000 Jkg. How
much work ig required to be done in moving
a5 kg object 109 m on a slope at 30° to the
horizontal on this planet?

L. 1250
2. 2500
3. 4350
4. 5000

Directions: (Questions 66 - 67) .
Two identical objects A and B each of mass

H above the ground and object B jg projected
vertically upwarqd from the ground with speed

u= 2gH .

66. At what height above the ground do they 66,
- collide?

1L (4
2. (I2)H
3 2%u
4 Gl

67. After they collide, they stick 1o each other, 67,

T F e ¥ foog TF-TR ¥ P
What is the loss i their totaf energy? | T e o] ot afr e 2
1. 0 Lo
2 (12) mer 2 (12) mgnr
3. (3/2) mgrr ©30 (3) mgH
4. 2mgH 2 mgH

24
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W%@Waﬁ?wﬁl%mmsﬁ
W%ﬁmwﬁaﬁawam
wwﬁrmwmoomg%rmnﬁw
&‘)f%m@wa%man%wmﬂga%
ﬁﬂﬁﬁvg?ﬁlOOmassﬁm%m
o w5 wy gy

L1250

2. 2500

3. 43507

4. 5000

ﬁé’m:(mﬁs—w

W@Wﬁaﬁwmﬁm’fﬁw
B2

. (1/4)y
2. (12 H
3. @2B)H
4. (/ayu

o
(s @) ﬁqﬁ;)zgﬁ
(ﬁal)ﬁTW%ma(ﬁ%.
@ < e s A R
A H A T B

i ® e
1 frdt mem @ TRRA

below are two different graphs of 68.

68. Given

X [ the
jation of density (or pressure) of
var . o e
dium with position (Fig. 1) and with tim
me )

through 1l
i a wave passes
(Fig. 2) as

medium.

A
TRy density

or
ot
pressure /\ /\
‘m B,
x {om)
150 200 .
o 50\/100 | \\/

Fig. 1
v
£ .
oHed density :
v or
pressure 5
o w0 t {milliseconds}
3.0 .
c \17 N \//
v Fig. 2

. - .
i w0 W W W R
What will be the speed of the wave in the wr
given medium?

1. 25m/s
1. 25m/s 2. 50m/s
2. 50mfs 3. 250m/s
3. 250 m/s 4. 500 m/s
4. 500 m/s

25

13-15-SAT-ENG-HIN



and a concave lens, each of 69, MG
focal length 10

distance of 2 cm
light is incident fro
of lenses wil he

Lo

70. In the circuit

the battery to maintai
point A and B to the w
circuit is

om, are kept separated by a
45 shown in the figyre, If the 2
m left, the combinations

converging

diverging

behaving like g glass slab
converging or diverging depending on
whether the lenses are arranged as shown
in the figure or i the reverse order.

given, the ratio of work done by
n the currept between

ork done for the whole

26
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71.

. . ‘
eti 1eld at the centre of a circular coil 71. 3[321 R %’ qﬂ EAL 55“@(51 i)‘]ﬂ@ LU %ﬁ
Magﬂ C :

i
i 3 iis Boe — and
f radius R carrying current 7 1s =
[ )

. b
its direction is given by right-hand thum
its

etic eld at the centre of a circular arc
Magn

btending an angle € (in degree) is
su

Boc—}%
found using right hand rule.

L] and its direction can be
360°

| ol
R

Consider two circular coil; made3o§nL(11n1L1;0r{1r1‘
hown in figure 3 4

?“Ol::izcgor;o?rsnss C and D are (ﬁametncallz

olgposite to each other, and in figure 4

ZP0OQ =120°,

Then magnetic fields

at both Oy and O» are zero

at both Oy and O, are non-zero
is zero at Oy but non-zero at O»
is non-zero at Oy but zero at Os |

AL

27
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24
\‘ J' ) 6 \
. il 0
Re o o Pgle0d
. ‘( ’V
>
@

msmmwwwwﬁm
3w 9 e gefw @ f A
fag Co DU T ;W
ZPOQ = 120°.

0y 3ift O, 4l ¥4 B

Or it 0,3 w7 B ,
om?fﬁﬁoﬁ‘wg
O]q—{mwo2msﬁ !

e S



difference Vag =8V

L 64ma
2. 15mA
3. 987ma
4. 1 mA

74, Read the followin > Statements,

tatement I; S um metal i

: H reacts

\Smth water to fmduce heat and fire, violently

S it:,ge'gll;nt 5 }f: Potassium metal
S With water 1o i

hydroxide and hydrogen gas, "™ - potassium

Select the correct an i

given e €0 swer from the options

Statement | is true, Statement | is false,

2. Statement | is false, Statement || is'true

3. Both statements are true, and Stateme;n
H provides explanation to Statement .

4. Bo‘th Statements are true but Statement |}
doés not provides explanation to Statement |,

28
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75, You are provided with 18 g each O.f 02‘, Ny, 75.
CH, and H20. Which of the following is the
correct decreasing order of number of atoms
present in these samples?

1. CHy>H0>N2>0s

2. 0y > N> Hy0> CHy

3, CHg>Np> 0> H,O

4, N> H0> O,> CHy

2 2 .
arranged the ions F~, Na', O, and Mg® in
decreasing orders of their ionic radii.

Manya - O*>Mg">F>Na"
Kartk — Mg"">Na™>0*>F
Gurnoor — O%>F>Na™ Mg*
Sheena — F>Na™ O*>Mg?

Who had provided the correct order of their
decreasing ionic radii?

1. Manya
2. Kartik
3. Gurnoor
4. Sheena

concentrated H2SO, gave product B and on

warming = with alkaline - KMnO; gave
compound C. Compound A on heating with’

compound C in presence of concentrated

Hz80, formed compound D, which has fruity

smell.

Identify the compounds A, B, C and D:

1. A= Alcohol, B=Carboxylic acid,
C = Alkene, D = Ester
2. A =Carboxylic acid, B = Ester,
C = Alkene, D =Alcohol
3. A= Alcohol, B= Alkene,
C = Carboxylic acid, D = Ester
4. A= Alkene, B = Alcohol, C = Ester,
D = Carboxylic acid

k]

29
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BN

Manya, Kartik, Gurnoor. and Sheena. had 76.

. An organic compound A on heating with 77.

G Oy, Ny, CH, 3 H0 Weﬁ 18 g
faw m § o ofwel § vt woden ®
o frfefaa % @ s wea w9 @ 8

CHy > H,O> Ny> 0,
O > Na> Hy0> CHy

CHjy > Np> Oy> HO
Nz > Hy 0> Oy > CHy

T, i, TOR SR 9 3 et B Na®
0%, 3k Mg®' % v omfE fremel
e w9 ¥ FreAfefaa wer ke
W= - 07> Mg">F>Nat

FfIE — Mg*™> Na™> 0% > F~

TR~ O7>F>Na™> Mg

WA~ F>Na™> 0%>Mg?

T O ol Bemet w1l we R

T FEfE AE A R 9eRis e @
Y T HH W SR B SR € SR &
KMnO, % @l ™ %@ W IWE Coa B
AfEE A AFE CF WY TE H.S0, F
Sufeefy & W w@ w A D e 2
oot well St Ty B B

AR A, B, C 3R D= et

1. A=Uemila, B=prifwlers s,
C =V, D =R

2. A=wEiRfas o, B=uwe,
C =¥c®m, D =Uchield

3. A=UeerRld, B=Uw#H,
C = FiRmEies o, D =Tt

4. A =UgsM, B=Ushlel, C Uy,
D =wsifrfers o




I.
2.
3.
4.

9,

»

I

L.

.

B

80,

gas
1.

78. Match List | (Mixture) and List 1 (Type) 78, W+ 1 (Frsrory st =T (ymR) = = I
with the list JI (Example) and select the (w0 = wr e St e gt.
correct answer from the combinations given A o 9 e I e
below:

List § (Mixture) List 1§ List Hi
(Type) (Example}
A. Liquidingas | 1, Emulsion | 1, Mist
B. Liquid in . Aerosol [ 1. Sponge
liquid
C. Gas in solid . Foam M. Face cream
. Gel IV. Butter
A-3-]1, B2, Ceq-1v Lo A-3-q, B-2-[II, C-4-1vy
A-2-1, B-1-HI, C-3-11 2. A-24, B-1-11l, C-3-11
A-1-11], B-2-11, C-34 3, A-1-111, B-2-11, . C-3-1
A-1-11, B-4-1, Cca2 4. A-1-qI B-4-1,  C.2-111
Which of the following set of reactions will 79, freifafey s = HA-T e T
NOT occur? : 1§ wmre
MgSo, (aq) + Fe(s) —>FeS04 (ag) L MgSo, (aq) + Fe(s) —>FeS0, (aq)
+ Mg (s) Mg (s) ’
CuS0, (aq) + Fe(s) — FeSOy (ag) . CuSo, (aq) + Fe(s) — FeSO, (aq)
+Cu(s) +Cu (s)
MgSOy (aq) + Cu(s) — CuS0y (aq) L. MgSo, (aq)+Cu(s)—-> CuSOy (aq)
tMg(s) - * Mg (s)
. CuS0, (aq)+Zn(s)—> ZnS04 (aq) IV. Cuso, (aq) + Zn(s) - ZnS04 (aq)
+Cu(s) +Cu(s)
and 1 L1k
and 1v 2. Heky
. Il and 11} C3 Luskm
I, W and 1v 4. 1 ursky
Two organic compounds ‘A’ and ‘B’ reaet 80. X FFF A A 4l B’ wifgem g H
with sodium metal ang both produce the e fufp g TF R X a &
same gas ‘X, but with sodium hydrogen Wy wfeay BRI Hrafe Elis ) o
carbonate only compound. B reacts to give g Eiiten Bofufrar s 2 st wr Ay cy
Y, Identify ‘A, ‘B’, X’ and Y EEich %, ‘A, ‘B, <X’ 3;ﬁ1 Y ) *qg;n-ﬁ—q:

A =Ethylene, B = Ethyl Alcohol,

X = Carbon dioxide, Y = Hydrogen
A= Ethyl Alcohol, B = Acetic acid,
X= Hydrogen, Y = Carbon dioxide

A = Methy! alcohol, B = Ethyl alcohol,
X = Hydrogen, Y = Carbon dioxide
A= Acetic acid, B = Formic acid,

X = Carbon dioxide, Y = Hydrogen

30
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L

A = TR, B = uftr T,
X =0 ex-siiemms, Y = g

wi ] D )
he elements A, B, Cand D ith 8%. s My . i" . i ) ; '
il H

Consider

rsing ] -4 o
momic. pumbe h}hméi’g :hﬁe g@:éiewing @ @ foe Prefafe § @ S-d
' i Which a 5 .
respectively. ue e onte e ‘ |
statements regarding these e s ﬁg{f% w
COFFEE;;? element C will gain electron more 3 w :?: mﬁ |
" i H @@ B, qor EER
i t D. 3, 7 T
easily than elemen o lose electron e " st
H. The etegintthintgnds | N WMAW vmu - aﬁ’xim
1t ?k?;eol;zi;ei gf’A will be least basic while g D“ ET! WS W a
. 0 : —-. | R
£ D will be most basic. ' ‘ 3 IVE!EE o
v E?:;%nergy required to hu;{ng;em a;\x - i 2 ﬁa;ﬁAsﬁ i
’ st shel ) z@mﬂq » »
electron from auterrfxo . TR Fremfaa “
will be minimum while that from D wi il ﬁm3311$m o e Fac i3
be maximum. o it g Ay
1. FEm AR
i. landIll only N iy
2. Pand IV an{ > écrqaﬁ T i
3. IFand il only WH i
4. Hand IV only 4 FEa ;
F Yo R 7w &:
§2. " The following observations are given for four 82. I

; e afafem & wEl
P not react with dilute HCL L ‘g? HaE HCI®
R It v K @ & e sl w8t
nimg L % WY aﬁmaémém;g
g H %! T T & S faeRe
et wed ¥
Iv. uig M 3S S © ui afaRear wel 8

i water.
Metal K reacts with warm w
Metal L does not react .thh water btﬁ
displaces metal H from its agueous sa
colution. )
IV. Metal M reacts with cold water.

I
HL

Choose the correct decreasing order g: et e :
reactivity “of these metals amongst ¢ E&5t e
following:

. M>L>H>K
I. M>L>H>K S KoMoHoL
2. K>~M>H>I§ z M>K>é:;;
3. M>K>L>» . LaHs
4 L>H>K>M

3!
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83. Match chemical reactions

with the type of chemical reactions given in
List I and select the verrect answer using the
options given below:

List § List 11
(Chemical Reactions) {Type of Chemical
l;{em:tions
A. Formation of NHsfrom |1, Decomposition
N; and H,
B. Calcination of zine I~ Double

carbonate

C. Reaction of aqueous
BaCl, solution with
dilute H,S0,

D. Rancidity of oils

displacement

L Combination
V. Redox

V. Displacement

-

-L B-V, CI1L, Doy
-1, B-1V, C-v, .
-1V, B-11I, -V, Do
-I, B-1, C-11, D-1v

> >

>

three salts — A; B and-C, 2-3 drops of blue
litmus solution, red litmus solution, and
phenolphthalein were added to each of these
solution in Separate experiments, The change
in colours of different indicators  were
recorded in the following table:

With
Phenoiphtha
tein Solution

Turns Turns pink
blue

On the basis of above observations, idemif‘y
A, B, and C from the following options:
L A= NH,CL B = NaCl, ¢ = CH3COONa
2. A= NH,CI, B = CH;COONg, ¢ = NaCl
3. A= NaCl, B = NH.CI, C = CH3COONa
4 A= CH3COONa, B= NH4CJ,VC = Na(|
) 32
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given in the List | 83,

I AL BV, C1p, payy
2. AL BV, €.y, p.g
3. A1V, B C.v, D
4. AL, B, C-11, Dy

. Wq&ﬁ?ﬁ?aavﬁ/\’gaﬁ—{c_cﬁmm
23 R A fererg forerrm,
3k

mﬁmﬁaﬁaﬂmwﬁmﬁf@aﬁmﬁﬁ
A B3R C Y et

I A=NH,CLB=Nac, ¢ = CH;COONa
2. A=NHCLB= CH3COONa, C = Nac
3 A= NaCl, B=NH,(], C = CH;COONa
4 A=CH;COONa, B=NH,C] ¢ = Nacl

8 e I (Method Used) and' select1 the
e s er using the options given below.
correct answ bl

(Mixltltllsr'elto be {Method Used)
'Se' arateg)_ﬁzﬁﬁ__ Gy
Ao il Sublimation
B. g:d and Blue inks- 11, Fractional
C. Solution of NaCl in Disilation |
D xz:;thalene and \'A Evaporatior-l
. NaCl V. Crystallisation

- C-1V,D-V
. A-1, B-IL B
;. A-1L, BV, g_il\} g_h\/
3 CA-1L B-1 -V, b~
4. A-1l, B-1v,C-1, D-1i

List I (Mixture to be Separated) with 85,
h Li

fasror) w1 =
1 (gorer T S Een
ﬁuﬁgﬁfa)%wumaﬁtﬁﬁq

g fomed F ¥ SW 9T -
T 1
(g T ot awen (v Tafer)
fasror)
A. 53 N, 3R 79 O, 1. wferest
B. @ 3l el T 1. sedu
C. NaCl 1 5@ & 5077 1y gqureh s
D. Aperele 3R NaCl P —
y. freem
1. A-1, B-1L C—IV,Dw?/V
2: A1, BV, C-1i, D—”
3. A-INiL B-1, C-1V,D-

4, A-HL, B-1v,C-1, D-1II

86, Selec he correct se statements rega d g e ERY 8@‘ §H% ;\q;j?{ ﬁ <l
. S 0 g n 86. b 3{ %’ HI S

i down the
change in. properties, as we move

second group in periodic table.

1. Atomic size incregses.

i, Electro negativity increases. ases
l!i Tendency to loose electrons inc .
1V:: Valency remains same.

1. L HfandIlI
2. 1L HTand IV
3. I, Hand IV
4. I, MMand IV

i aining 87.
87. Which of the following options containing 8

e of 20US
formula, bonding and nature of aqueo

i i rect  for
solution respectively is correct

the

compound formed by two elements A and B

having atomic numbers 1 and
respectively? ‘

1. AB, lonic, Acidic

2. AB,, lonic, Basic

3. AB, Covalent, Acidic

4,  AB,, Covalent, Neutral

13~15-SAT-ENG-HIN

17,

33

ngﬂ%uﬁaﬁ@vﬁﬁﬁ%ﬁwnﬁ
1. ToER-sEoTeTR g B N

1. g éﬁﬁuqﬁ{aaﬂ’? 1

V. garseha TWE @ 8l

1. Lreim
2. 1RV
3. sy
4. 1, &y

T awl A R Bmﬁmg@ﬁiﬁmﬂﬁ
| et 17 % g ow A ® o gl
e, e we e faerr *ﬁﬁl
ﬁ’!ﬂ'f‘?ﬁ:@" a F ¥ wE-a ey 9l 27

AB, ST, Sl
AB,, S, &
AB, TEASH, SR
4. AB,, TBEIS, TRER

woN



. el ¥ EEE W s
a in plants is an_e_xample of 98, m s o W @
89. S;clef;“‘;lg,mﬁmm tissue comprising of two T & S
SImp

o s 3
f cells, sclereids and fibres. Why tlhes; 53 ' & ot 2 o
o C? c;tionaﬂy important to the plants RO

cells are fun £

88. Choose one of the following alternative gg, Tt Tnfoug; T W W o) e
statements gjven below which correctly Ry i W) S WE T sy LR

explains the process of osmosis, -

2
; werget SR 27 ,
even afier they die? N A% ford g P § W wdt e wF N
lternative from the
. Movement of water from regions of L 9l &t sifyes s gy § 9 Toerr Choose ‘the COI"B‘C‘ alte
Concentrated to dilute so} utions, = sl options given below.

[

h are thin walled cells lacking 1 e
Botl

The bassage of golute from weak 2. fqdig = 7 foorm 9 e fer ey , i.

solution to strong  solution through a

» % wifw &
intercellular spaces. 3 fule W el
et . b WWW@WW interceflul ¢ colls are thick 2. < we % oifgwei §
seiectively-permeable mem rane. in both the types of ce e
[Eigioe et arsm lis in both i 1 .
3. A passive transport of a solvent through a 3 i @. i 2 5“13 cutinized. ’ﬂﬂ:ﬁ Fiformal § fafe W al
selectively-permeable membrane from g ToreRr W & Y aig RO e o the cell types are thick and 3. o wE _
region of low solute concentration to » Toeeht @ et fifigre Sifiprr 3. Walls '"_mfg 4 T fafrrea -
region of high sojute concentration, - usually lignified. : 4. 3w = Sl e & dew aw
Tty oo e ducting . ) L wiher
4. An energy-dependent transport .of 3 4. w7 ¥ oifis 4. Both the celis are _used for ;&n © the WY W g WRH S e vl
solvent through 4 selectively-permeable foeta W o iR RAC s o solutes and providing stren; it
membrane from 3 region of Jow solute foeett § BT S Frefe arfepmey plant. S
concentration to g region of high solute

concentration.

4] e FOEHOWE Or, S ‘ ' v T
hich one of the fol g Organism has a 91.

ular respirato aots &0 T aW "
iratory pigment dlssnlvefl i ilitaiﬂ § ﬁ?ﬂ ; i
cptl:as" nlla a;d i‘s :ls&) a pmdéceous; carmvore s W & S ﬁ;. AR Tvia &

89. In meiosis, each of the four daughter cells has g9, BJ%fqaﬁ fBaem ®
one set of chromosomes, Due to randomness

9%.
THE B gy TR % ws e g ¥
of process of chromosome separation in

and shows matriphagy? 1. frsg
meiosis, large  number of chromosome el f‘am il TR 1 e s ; (S:c;li(i;l:;h f:}; m
combinations can form gametes. How many T BN W, FE g@; g TURE g, 3 Earthworm 4i i €l
such  chromosome 'combinations in the 4 Sea cucumber

o me%‘;wf{mma&m‘
gametes are possible i case of humans,
assuming there is no crossing-over taking TR W, oot T E o ot K]

k T
R and are ofien replaced by hootho;; v ;?a ?ﬁ%ﬁ T fred ¥ § i w
place? EEy - : s, From . AR Sk
A the given options ¢ tof  eeiie am whEre
combination of sensitivity and replacemen A fore gPT-
lichens. : oo W ;
- L2 1. wER SR sifEmge g uiw
= z 1. Sulphor dioxide and moss 3 e e s m ot
. vz 2. Sulphur dioxide and algac 3 ok ot st o
3. 2% 3. 2% 3. Carbon dioxide and fems _ 4- g
4. 2% 4, 23 4. Sulphur dioxide and grass wEw ‘
35
34
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93. A student was performing an €xperiment to 93,

Choose which of the
graph are correct.

understand the enzyme-substrate ' reaction,

- The " student measured the formation of

Following interp

st

coloured product using a colorimeter. The

student plotted the graph below which shows

the reaction

rate . versus - the substrate
concentration:

TRACEHON Pite ~—pp

Subsirate concentration. ———p

retations were. drawn by the
udent: - : :

A. “The  higher concentration: of substrate

B.

BN

acts as an enzyme inhj bitor.

It is a sigmoidal curve - with
transition from low 1o hi
over the
concentration,

sharp
gh reaction rates
increasing substrate

<"The curve reaches 3 plateau and does not

further increase with Increasing substrate
concentrations ' “due. * to saturation of
enzyme with the substrate,

interpretations of the

Aand B
Aand C
Boniy
BandC

36
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W@aﬁﬁﬂnﬁ%ﬁ@ﬁmw
TS F W f w2

C

mmﬁﬁhﬂ@hm?mﬁﬁ&
I Asirp’
2. Asikc
3. E@ B
4. Bske

mmm%ﬁmﬁ#mm#msﬁﬁ%m
ﬁw¢m&mmwm@h%-

SAIHA T BT ey

ﬁmﬂmm g

mmwswwﬁmmﬁﬁﬁmnﬁ
&mmﬁzﬁmrémmrwﬁ@
%memﬁumﬁvﬁmm&
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. > . u
Glucose is the prime 80

it is stored in the form of

o HOYVe\t/;;, nx:u;j:lztand liver of animals

glycqgenhm form of starch in plants. As a

e er time a cell requires: glucose, it

resu“’he;fo{yze glycogen which is an energy

o n?ing process. Why d<?es the cell?store
;i);csggen instead of glucose in free form?

{. Glycogen is more compact and more
' hydrophilic. ) )
2 S)t(oragpe of glucose in free form will

‘ e ATP.
consume motre AT
3. . Glucose in the free form creates more
) motic pressure. )
4 0Gslucose is highly reactive molecule
. hence storing in the free form. can result
in unwanted reactions in the cells.

. The ﬁgure’given below is designed to. show

yeast respiration; In one of the tulbe;;, thefreh;z
yeast suspension in glucose solution.
- yeast suspension in’ g
- Zolutidn was boiled before yeast was addeqbtlc
 it. Which one of the following is the possible
reason forlb,diyl]ing,of sugar solution?

Glucose Bicarbonate

indicator

Yeast
suspension

L. To ensure aerobic fermentation..
2. To provide the initial warmth for the
yeast to become active.

3. To remove the dissolved oxygen and
carbon dioxide from the solution.

4. To remove dissotved carbon dioxide and
trap the oxygen from the atmosphere.

9s.

37
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ree of energy in our 94. IR THR YR ¥ T W W@

el = v e e % w3l 4
wafsa e 31 o wer, S| sl i

A w el e d el e
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wefrE-
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s
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soifos SRS 1 FTOT

o fa dfe B v w8 e
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o e fret #1 A S 4 T P
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the ground, og,

Squire] Tushod o o0 B 2 dog. The e W w w a
S nushed 0 the tree immediately ang — W@ T e
3 f cha:lﬂledangermxsanack.What Y IE U 3w W o
mmodiate changes are most-fikely 1o haye i A T
mkmpzammmebodyofmsqumj? w#mﬁ-ﬁamgqg}fp *
A. Blood flows 1

B digestion, 0 the stomach for rapi R R LR oS TR —

. Adrenalin was secreted i -
e ;!;e ,migiands. i the blood by B'Wmé@mmmﬁmﬁi
. Heart t becomes faster and .

; C.
MMSOMmmaesgmp;moﬁ g‘;‘%ﬁaﬁgmwmaﬁw

oxygea.

towards the vital o 3
Seﬂmﬁw COrTec: . -

given below: * combination of options

,ﬂ‘ Asnd B

2. AandC

3. BandC '

4 CandD
Stimul

o ﬁ;ﬁ@f@z;;he envirm‘amem is detected by 97,

msmited in e o of e
in 4 of electrical i

From the options given below cj;(;j)nszui;&

mm%ct scheme showing the direction o

which the nerve impulse travels. {Arr .
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98. “Double

fertilization” 15 0

mechanism of flowering plants that is also

unique to angiosperms. Choose the most
appropriate statement from
below that explains this phenomenos.

1. Fertilization in w0 flowers of the same
plant forming endosperms.

5. Two male gameies fertilize two eggs
inside the ovule as a result the ovary
gives rise to bigger fruits.

3. Two fertilizations occur in a flower-ong
fertilization results in the formation of a
diploid  zygote and the second
fertilization results in the formation ofa
triploid endosperm.

4. Two pollen grains sending two pollen
tubes inside the ovary, resulting in the
formation of two seeds inside the fruit.

the options listed

99, it is generally observed that malaria is
rampant in arcas’ where construction work
and/or stagnant water are usually seen.
Plasmodium species are known to cause
mialaria. The parasite when injected by the
mosguito into the human blood stream goes
through specific life cycle stages. Select from
below the correct sequence of stages.

1. Mosquito {sporozoites) — human liver
{merozoites) —human RBC
{gametes) —>mosquito
{zygote-0ocyst-Sporozoites)
2. Mosquito {merozoites) —human RBC
{gametes) —> human liver
{sporozoites) — Mosquito
{GOCyS—Zy gOte~SPOTOToies)
Mosguiis {meroznites) — homan Hver

s

gioe)
{D0CY ST~ ZY ZOle-~SPOTOTONes)

4, Mosguito {sporozoites) ~ human ey
{sporozoites) -» human RBO
{merozolies) ~» mosquito
{zygote—oosysti-—sporozoites}
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Given the above information, what is the
expected phenotypic ratio of plants with
different flower colours?

1. All plants with red flowers,

2. Red: white in the ratio of 3:1.
‘3. Pink: white in the ratio of 3:1.

4. Red: pink: white in 5 ratio of 1:2:].
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